
B0000082b Motor replacement For Obsolete part
B0000082

Upgrade parts and procedure to replace obsolete load roller motor B0000082

Introduction
To rectify the obsoletion of B0000082 drive motor, the following replacement kit has been designed to enable continued support of older

assemblies within stuga machines .

The kit consists of a new motor and appropriate gearbox, adapter plate and new fasteners . Also details are included here for a small

modi&cation to enable the upgrade to function correctly

Following parts are required for this upgrade

B0000082b load motor and gearbox 1 off

D0008225b adapter plate

F0000189 M6 x 25 set bolts 4 off

F0000058 A form washer 4 off

F0000190 M8 x 40 set bolts 2 off

F0000007 M5 x 16 cap head bolt 4 off

Medium 2 hour(s) Dif&culty  Duration

Contents

Introduction

Step 1 - Motor drive key Modi&cation

Step 2 - Fit D0008225b adapter plate

Step 3 - Mount clutch plate

Step 4 - Fit assembly to load rollers

Step 5 - Set clutch gap

Step 6 - Mechanical installation complete

Comments

Page 1 / 7



Step 1 - Motor drive key
Modi&cation
New motor B0000082b will need modi&cation of drive key to

function correctly.

5mm should be removed from key in situ as shown in photo

This will enable clutch plate to move to desired position on

assembly



Step 2 - Fit D0008225b adapter plate
1

...ensure 1 off m8 x 40 set bolt and A form washer is &tted to plate before bolting to load motor as access is restricted

2 Using 4 off m6 x 25 set bolts and A form washers , adapter plate should be mounted to Booooo82b motor in con&guration as shown. Loctite

243 Adhesive should be applied to fasteners

Page 2 / 7

https://stuga.dokit.app/images/thumb/e/ee/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_112503.png/ia-018c74e3f994fe326e9dacf8ae40b6ed-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_112503.png.png
https://stuga.dokit.app/images/thumb/5/5e/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_114723.png/ia-9c645ff72a88ca209c6f310f799c08b4-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_114723.png.png
https://stuga.dokit.app/images/thumb/8/80/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-05-15_161029.png/ia-ac64e52962e94494940f9da5364a5f0d-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-05-15_161029.png.png


Step 3 - Mount clutch plate
1 Mount electro clutch backplate to indicated holes using m5 x 16 socket caps 4 off with loctite adhesive 243

2 Slide on second part of clutch and use to align clutch backplate before tightening all 4 m5 bolts to secure back plate in position

3 Orientate electro clutch as shown in picture

Page 3 / 7

https://stuga.dokit.app/images/thumb/5/5e/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_114723.png/ia-0ce98dac797e1eeb6ca3f52c7328ebe5-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_114723.png.png
https://stuga.dokit.app/images/thumb/0/03/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_115428.png/ia-91295e244396a2e4bc35f23616d4e1cb-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_115428.png.png
https://stuga.dokit.app/images/thumb/f/f3/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-05-15_160918.png/ia-213795a9c51fbe5ab791496be0b5cba3-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-05-15_160918.png.png


Step 4 - Fit assembly to load rollers
1 Add second M8 x 40 cap head and A form washer to assembly and

&t assembly as shown , then secure both m8 set bolts

Step 5 - Set clutch gap
1 Clutch gap should be set to allow correct operation of clutch

2 The part indicated (item 2) should move freely back and forwards onto the friction plate

3 Clutch friction plate (item 3) mounted to the load roller

4 Set the gap between these two parts to the thickness of a piece of paper

5 The adjustment is achieved by undoing item 5 and moving friction plate towards/away from clutch assembly

Page 4 / 7

https://stuga.dokit.app/images/thumb/3/3c/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120046.png/ia-c951659d675a5b8710f9567a03764312-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120046.png.png


Page 5 / 7

https://stuga.dokit.app/images/thumb/8/8f/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png/ia-e7b2fd2ae7b3498d9468f175dccd7879-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png.png
https://stuga.dokit.app/images/thumb/8/8f/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png/ia-9eb70f0074802604d9e23ec00e1e651f-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png.png


Step 6 - Mechanical installation
complete

Page 6 / 7

https://stuga.dokit.app/images/thumb/8/8f/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png/ia-6aad699b963d5fcb05e5ada851da550d-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png.png
https://stuga.dokit.app/images/thumb/8/8f/B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png/ia-c6e445df8ac6ca25b13cb9a3bd5b14f6-1000px-B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_120321.png.png


Page 7 / 7

https://stuga.dokit.app/wiki/Fichier:B0000082b_Motor_replacement_For_Obsolete_part_B0000082_Screenshot_2023-04-11_121301.png

	B0000082b Motor replacement For Obsolete part B0000082
	Contents
	Introduction
	Step 1 - Motor drive key Modification
	Step 2 - Fit D0008225b adapter plate
	Step 3 - Mount clutch plate
	Step 4 - Fit assembly to load rollers
	Step 5 - Set clutch gap
	Step 6 - Mechanical installation complete


